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BE-E-ZE CHERRUHAEEBEYNESZSD)
T 4 EEEH HE 8% HYsE FAxtER B # Y H B # 3 H 3l
(B kg kg kg |REER BE& SiE il =& =1 il Rl
1101 X4R EE 50 500 0 500 10. 00 0 0 0 810 0 486
(&) 80 800 0 800
1103 A5 EhH 17 170 0 170
1111 £BEAS EFh 16 160 0 160 10. 00 0 0 0 2,700 0 756
(EH 16 160 0 160
1M3E$AS &D 320 3,200 0 3, 200
1141 5%E48 mE 16 80 0 80 5.00 3,888 0 1,728
EE 3 30 0 30 10. 00 1,620 0 864
(D 19 110 0 110
1201 B3 GDH 450 6, 750 0 6, 750
1203 £ v~y A 411 4,110 0 4,110 10.00 0 0 0 972 0 756
()] 411 4,110 0 4,110
12051 F5hhAE | EE 368 147 147 0 0.40 243 97 0 0 0
126 450 90 0 90 0.20 0 0 97 0 94
(D 818 237 147 90
1207 F& EH 1, 381 172 164 8
1209 B&E B 30 90 0 90 3.00 0 0 0 0 1,674 0
&h 54 162 0 162
1223 &% RE 246 74 14 0 0.30 151 0 130 0 0 0
EH 246 74 74 0
1301 fiiF ®E 25 50 0 50 2.00 0 0 0 1,242 0 1,134
=3 280 84 0 84 0.30 0 0 0 0 108 0
=3 1 35 0 35 5.00 0 0 2,160 0
(FH 312 169 0 169
1321 AR mE 54 270 0 270 5.00 0 0 1,944 0 1,836
=% 14 70 0 70 5.00 0 0 0 2,160 0
(D 68 340 0 340
1331 Mg H » Ao 10 100 0 100 10. 00 0 0 0 0 2,916 0
(&H 10 100 0 100
1/1E—=> = 300 45 0 45 0.15 0 10 0
=y 1, 560 203 0 203 0.13 59 0 49
(&D 1, 861 254 0 254
13532 f=4s 180 18 0 18 0.10 0 0 0 216 0 108
1) 180 18 0 18
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BE-FE-RE CHEERRUHGHERELSEZESD)
T 4 FEE iz | G O U5 R ER 3 & Y H 3 8 % H 3l
EE kg kg kg |(HEEH BEK =1 & Ee) il i =iE
14014 5> BR 200 30 0 30 0.15 0 0 0 76 0
ERE 5 10 0 10 2.00 0 0 0 1,836 0
(D 205 40 0 40
1407 =S BERE 100 10 0 10 0.10 0 0 0 92 0
(&h) 100 10 0 10
1501 Hsk = 67 335 0 335 5.00 0 0 2,268 0 864
(EH 85 425 0 425
BB A -1 |diEE 510 5, 100 0 5,100 10. 00 0 0 1,836 0 540
&H 510 5,100 0 5,100
1521 B £33 4 40 0 40 10.00 0 0 3, 564 0 3,240
(GH 4 40 0 40
1541 E& deiEE 124 2,480 0 2, 480 20.00 0 0 0 4 212 0
(&H 124 2,480 0 2, 480
1603 L) — (D 5 50 0 50
1608 7oyl | &I 48 288 0 288 6.00 0 0 2,916 0 2,160
EH 48 288 0 288
1611 L2 R GhH 20 125 0 125
16129 =L A2 R |1 5 25 0 25 5.00 0 0 1, 404 0 1,080
&H 5 25 0 25
16273 = k2~ | BN 120 24 0 24 0.20 0 108
BEX 9 27 0 27 3.00 0 1,728
&) 129 51 0 51
1705 + 4% =%l 540 43 0 43 0.08 0 0 0 45 0
(D 540 43 0 43
1803 & #tE RE 1,020 102 0 102 0.10 0 163 0 71
EE 90 18 0 18 0.20 0 0 228 0
&h 1,110 120 0 120
1807 BE rH 150 15 0 15 0.10 0 56
&H 60 9 0 9 0.15 0 95
EH 1,050 210 0 210 0.20 0 91 0 89
(&H 1,260 234 0 234
1809 LH L £5 500 50 0 50 0.10 62
154 240 48 0 48 0.20 113
EH 740 98 0 98




MEMFER (K EBX

(] == A )
S5 4 2O E g o E 1)) gﬁ 5o *E & % 20234128118(8) PAGE :
SiE-HE-RE CEEBRRUMAHEERMBALEZSD)
& & TEEH o OE BB 58 $ExERE Y 3 8 x B Bl
B kg kg kg |EXEE  E& S il e =iE Tl
* SPFEE * 19, 980 40,975 606 40, 369
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il PE-ZE CHEERRUHMTEEHRELEEZESE)
B A FEEH IR HY5E LGS E] # Y & 3l 8 R W3l
S kg kg ko [HEEE RS B i & i i a0
22115t ' 20 200 0 200 10. 00 0 0 0 0 4,536 0
£H 108 1,080 0 1,080 10.00 0 0 0 6,912 0 3,240
(&h 128 1,280 0 1,280
2225 £ # Lt 20 200 0 200 10. 00 0 0 0 0 4,860 0
(&) 20 200 0 200
2401 EFH =R 5 38 0 38 7.50 0 0 0 2,160 0 1,296
D 39 293 0 293
2823 A #mE 14 70 0 70 5.00 0 0 1,944 1,728
=5 21 210 0 210 10. 00 0 0 1,620 648
&b 35 280 0 280
2441 T#h D 10 5 0 5
2616 ST XH + | EE 3 15 0 15 5.00 0 0 0 0 14,148 0
&h 3 15 0 15
2100 7—ILR | 1 9 0 9 9.00 0 0 0 0 16, 740 0
@D i 5 0 5
2118 F 89 22 0 22 0.25 0 0 0 0 864 0
=31 60 24 0 24 0.40 0 0 0 0 702 0
G 320 86 0 86 0.27 0 0 0 0 702 0
R 200 50 0 50 0.25 0 0 0 0 648 0
i 80 22 0 22 0.27 0 0 0 0 1,210 0
HEAX 629 157 0 157 0.25 0 0 0 972 0 540
HEA 260 70 0 70 0.27 0 0 0 918 0 864
EH 1,638 432 0 432
* Sy 3G * 3,704 4,766 0 4,766




